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Question Body and Alternatives

Three elements of concepts are :
QUITBIENLNE &([H5 S5 6N 60T CLOCTMI 6U6N&HE T MIGET :

A : Examples, Explanations, Values
2 _5TT600T 61 & 61T, 661785 & MBI & 6T, LOSLIL| &6
B: Examples, Models, Values
2 _GMyeouT &6, TR &6, IS LI &6t
C: Examples, Attributes, Explanations
2_G5IT[T600T 41 & 61T, LI600TL| &561T, 6] 61T &5 M6l & 61T
D : Examples, Attributes, Values
G5 IT[600T 6185617, LIGOOTLI&561T, DG LIL| & 6T
A player play a game according to rule, then the player attains which stage according to Piaget ?

2@ allemeTwmL(® afyF G wenmaeaflearLig elleneaTwmTGSHMIT 66060 DU 6THS BleOIVEN I |G MITF 6T6or
HNwrég eMulGR oy ?

A : Sensory motor stage
LI6VE0T @)UI&:8 Blemev
B: Pre-operational stage
QFWNIGE (LHUL L Blemev
C: Concrete operational stage
L|6VEDTLIT60T Q& LLIGV [Bl6m16V {606V LITBLIGLIMIHET Bl6m6v
D : Formal operational stage

&HHSD I Bleney

Choose the correct order of solve problems in the information processing approach :
Ny&Renearenl §I556960, H&H6U60 QFWIEVITEHS 361G e muiler Fflwmer QSTLIFR W CHi6 Q&g ?

A : Encode - Recode - Decode - Solve problem
&I (& 05 LS - GMHILIE wrHOD - Geweas GUluh - Siey &meore
B: Recode - Encode - Decode - Solve problem
GOWE rHob - GUIWLGF QF WS -Gepas GG - Hey &memrev
C: Encode - Decode - Recode - Solve problem
GOV GF 0sWLH - Gewers GUIWh -@IWE wrbHmib - Siey &mere
D: Encode - Decode - Solve problem - Recode
&I H&F 0FLE - Geweas GHlui®h - Siey smeore - GMIULT® LTHDLD
Which learning approaches defines, learning is a process that brings about, desired modification in behaviour :
SHMHMEL 6T60TLISI BFH60IEUITEOT [FL-G6MG LOMTMHMEMS ¢ DLIGBISSILD 6T60TMI Fon MILIGUTEHET :

A : Behaviourist approach
BLSNS Q& TETeNS: WLITOT 3 ST0I(E (L6
B: Cognitive approach
Sl HHMEH HTUSWOD
C: Approach of constructivism
Siflafledr 2 BeuTE S TG WD
D : Mental approach
LO60T S WS P D

The Proverb "Practice makes a man perfect" reflects which law of Thorndike.
"LUNHE @@ L6t 6T (D (PENW TSGR MSI" 6T6dTm LIPQWTLS ST T6menL &R 6 6ThE cllH&E& QUTBHSSI0MS
SMDE MG ?

A: Law of Readiness
WHS NG

B: Law of Exercise
LWIHSA NG

C: Law of Effects
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aflemare| el
D: Law of Attitude
LOGOTLILIMGT6MLD &M 5SS eNG)
6 6 The Sea Water retrieves when a child playing on the beach. She gets fear to think it as "Tsunami".
SLOHBmTWI6L alleneTwmT(HLD GBS HLVBT 2 6TaMbGalamnd MHSl & "GHeaTmCWIT" 6T6TmI SFFID QS TeTaUSI :

A : Enative Stage
QFwevLI(h) Blemev
B : Iconic stage
2 (HeUs Bleney
C: Mental conceptualization
LD6OTS &([HSSI([(HEUTEHS Blemev
D: Symbolic stage
G B Blemev
7 7 | The S-R bonds may be motor, perceptual emotional (or) conceptual and can be organized into system is meant by :

S-R @) 06uoTLIL] 6T6dTLIZI 2 L 69 WI&&LD, L{6VeT SIS, 06T 6l (W& MHmILD QUIMIHET FMIHS 6 (HMhIGHm0emalLl
QUM BLILISI 6T6TLIS :

A : Skill, Knowledge, Sentiment
S wedr, 2iMflgen, LD
B: Understanding, Application, Skill
LB60, LWETURSSIS60, B et
C: Analysis, Synthesis, Skill
LGS S60, ABMTSSS6, Hedr
D : Skill, Talent, Sentiment
Feir, HenLo, UHD

8 8 ' Who proposed fluid intelligence theory ?
Hyeu mievoreoorney] Ca ML LML 6mL (NeTQLMOHS6UIT ©

A : B.Cattell
B. G L6y
B: Guilfort
RL&CUMTL

C: Spearman
LW GLoest
D: Robert Sternberg
@UTUIL 6VGL6TGLITE
9 9 | Adjusting the support offered during a teaching session to fit the child current level of performance is :

GLHoS W6 GHELTMSW QFWLHMMISES 6 HM6UTMI &ML 556060 LOTEUTEL 5 EHE G LS TEUMS QULDEBIGS! :

A : Inter subjectivity

2151 QUIMBH6T
B: Guided participation

aflaml LUl L URkIGHML]
C: Scaffolding

LI LIquins 2 WissisHe0
D: Co-operative learning

Qe HSl HHME

10 10 Computer, Cellphone, Robot etc invented by which reasoning component ?

& eoofl6vf], ¥HCUSF), @UIBHH T neofl & 60T GLIMTeTM &6vor (LI LIL| & 6T 675 60T &TT60ornng LIm&Hma! 2

A : Attention
SHEUCITLD
B: Thinking
&1 & 6v 60T
C: Learning
&MHM6V
D: Memory

Bleneorey
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Rote learning, learning without interest can lead to

Ln6oTeuTLD, @y FeuidledTadl LI LILIGI ©)&6meor qmu@g,gum :

A: Memory
Blemenrey

B: Forgetting
oS

C: Short term memory
GSOIT W &ITeV Blemeorey
D: Long term memory
BevoTL & Mev [BlemeoTey
Teacher works for the welfare of a child's development is a concept of

AN WIT LoMevorel 861607 156060188 M8 Lisool IS MTT 6T6dT LIS 60T &BS S :

A: Social belief
Fepg BLIDLIGma
B: Social awareness
Feungs AL emoTT6Y
C: Social Expectation
FeNG eTHFUMTLILY
D: Social conflict
FeG (LIFevor LM
13 13" Friendship is determined by :
BLL| aTeTLISI @ &Hemeot STLOMe&H M :

A: Love
9|60TL

B: Affection
G/H&FLD

C: Compassion

@&H&LID
D : Individuality
56015 5 60Tem L0
14 14 ' Who is able to hide his feelings and check his emotional tide ?
WIMITITEL SE0TERI6mLLI _600T[J6) & 606 LDEMME S, DT 6U(DEFF 2(6MeV&HeM6T CFMTH &S (LDIU|LD ?

A : emotionally immature person

LLETE(WER WH TFF @6V6evs HLIT
B: emotionally mature person

LLETAIWER WHTFR QUM BUF
C: knowledgeable person

SIPlUTFHS BLT
D: moron
[]BT20F:)
15 15
Compare the Frikson's psychosocial stages with Freud's psychosexual stage.
(a) Basic frust Vs Mistrust (i) Anal
(b) Autonomy Vs Shame and doubt i) Latency
(c) Initigtive Vs Guilt (iii) Genital
(d) Industry Vs Inferiority {iv) Oral

(e) Identity Vs Identity confusion (v) Phalic

stiflgeir 2 6 Fepss Camlumiigsit Hlemeusmenst sollrmili(hl 2 sTUmsVIsTT

HlemsuasGemm(h) spligl({hls.

(@)  SuliusL BDSens Vs @61 BN &N S {i) LOGUALIMLL

(b)  mewrerTmL&l Vs Gleul &b, FHGHSED (i) wenm Hlsmsw

(c) GesrLiisTHDs: Vs (GDD 2 swryey (i) wmewmitiy

(d) HlgeuT 2 snLoliL] Vs STLDesuTTey {iv) ULl

(e) HEOTEUTEMLWITELD V5 SHetTauTemL LT (v) umsylsmTyay Hlemeu
(HLoLILILD

Az (@)-(D), (b)-(iD), (¢)-(ii), (d)-(iv), (&)-(v)
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(@)-(D), (b)-(id), (¢)-(iii), (d)-(iv), (&)-(v)
B (a)-(iv). (b)-(D), (0)-(v), (d)-(id), (e)-(iii)
(@)~(v), (b)-(1), (¢)-(v), (d)-(i), (e)-(iii)
C: @-(i), (b)-(ii), (c)-(iv), (d)-(i), (&)-(v)
(@)-(id), (b)-(iii), ()-(iv), (d)-(0), (&)-(v)
D (a)-(iii), (b)-(iv), (¢)-(i), (d)-(v), (e)-(i)
(2)~(iii), (b)-(iv), ()-(i1), (d)-(v), (e)-(D)

During the 2nd phase of Bowlby's Ethological theory of attachment, infants learn that their own actions affect the behaviour of those around them. This
signifies that the infants begin to develop .

L6y 6L LIUN 65T QB (L6 M RETMIFE Q& TaTend U6 2-1b Blemevulley, F & LI[H6U GLOHEN S 6T &hlG6T
2B TN U eI 6TeTe 85 6Tl 60T [HL_G56M S 6MU 6T 86160 Q& WLIGVE6IT LIS &) 60TM 60T 6T60T &M MIG 68 TelTS) 60T ME0T .
@UiuesoTL & LGeus G erflenl G —— CsmhmialléaHmal.

A : sense of autonomy
ST T & 2_eooT[j6)
B: sense of trust
BIOLN&6m& 2_6ooriey
C: sense of identity
&H60TEOTEM L_LITET 2_6T0T 76
D: sense of intimacy
(9)600T &85 L0 60T 2_600T 76
17 117 | Asking the children to give an example for six legs insects, children include spider which has eight legs. This is associated with what ?

GLHMSHETILID SLM &MV LFFHEHEHEG 2 FMTI6urd O&ETH&HSHF Q&FTeald CLUMEI 6Tl (Hd&mev 2 ufiflerLomet
FeubHHeOW 2 STIEwTIOMGHF QF TV H6) THEIL 60T QS TLFLIenL WS ?

A : Extended generalisation

emas LU L QUTSIen LG &S60
B: Generalisation

QUMSIMLOLILI(BH & &6V
C: Restricted generalisation

GemULL QUITSIemWLILIBH &6

D: Imitation
LfesTummen
18 18 | Ramu always puts an objects back in the place where it was taken after using it. What is the level of moral development found in Ramu ?

T TLQUTIDSILD @ QUTHeneT LW eTLRSH W LIM @ WeoorGID UIQUTHemeT 6f(HSS @)L 55 CeuGLL 6061 LILITEDT.
@5 6L Tl LD SmesoTliILIL L (055 eUeTHES Blenev WM ?

A : Post-conventional stage
HEOL(LDEMM QPSS G LIHS W Blenev
B: Conventional stage
HEML(LLEMM 6LDE & Bleteu
C: Conventional stage and Post-conventional stage
FEML(LDEMM 6ULNE G [Blém6v LDMHMILD B L (LemM UG GSHE LIHH W Blemev
D : Pre-conventional stage
HEOL(LDEMM QPG G S S (LMHLIL L Blenev
19 19 Sindhu trained hard to buy gold for India in the next Olympics. What kind of ideal is this ?

9(h &S @NDLIGER 6 QBT WITe|5E SHhiIGLID UMTHISH G &TCaITHILD eTaTml FHS &g 6Tnms LUIHE
T(DSSIGHQHTEUITLITI. @) Sl 6T616U6M & UIMET UL FIwiLh ?

A: Long - term ideal

HevorL &mev UL Flwiid

B: Interim ideal

@605 &ITev eUL_F WD
C: Short - term ideal

GSMIH W &Tev UL GNLILD
D: Life - time ideal
sumpeiledr v Swid
20 20 | Hormones are secreted in our body by :

MM GLOMET&HEm6T &ILILIG BLogl 2 L 606V 2 6Ter :

A: Liver

FH6065T6L
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B: Endocrine gland
BreTLleVeuT &L
C: Gall - bladder
sl
D: Gastric gland
@evylenu &yl
2121 'Which one of the following, Etymology of the word "discipline" has been derived from the Latin word ?

L9 6376 (H 61 60TEU D M 6T "discipline” 6T60TM Q& MELEVITEITS), 6TTHS @) 6V &S 60T Q& M6LEN 60 (BIESI 6 & 6L 6S 6V E & 6UoT DTS
QuUOUIULLZ?

A : Disciple
Disciple
B: Discipulus
Discipulus
C: Disciplinarian
Disciplinarian
D: Disciplinary
Disciplinary
2222 | The statement "Family is a shock absorber" denotes :
QUTEHSWILD "Family is a shock absorber" 6Tem g GMILILN GRS ?

A : Family should be an agent and accepts one's stress and problem
SO ULDTETS e([HeuTf160T 6T IF) 6y LoMMID LIJ&FFeneTdHen6T @D SemloLiL]
B : Family should be an agent and reject one's stress and problem
&®uLmerasl Geuiler er HFH Tal wHmih LFFFamearsaer 6l EL0h el
C: Family should be an agent and accepts one's happy only
SO\ ULMeTg a6 LR LLFR W L HILD gHESLD SenoliL]
D : Family should be an agent and reject one's happy
&O\ULLTeTS a6 LR LDFF W eNevdE&LD SemLoLiL]

23 |23 | Find the correct answer.

Assertion : Social cognitive training is not the only approach to help children with social difficulties.
Reason : Parents are poor model in solving social problems.

Frilwmer eflemLen s &Heoor(HILNG &&HeLD :
shrjjgu s Fend NGB mer LUINHS LG Fewns LNTEFemenremL W &L0Hen & &6 160T 2566 @ 261G (L muTs
gr?;r?oi&%@um@mmja;ﬁ Fens LNTEFener HT6560 Hmenflev &LOMTT6T (6T TH FIWIME 2 6TeTTig6l.
A : Assertion is true, Reason is false
Fa MMl Fifl, HTFeooTLD Heumi
B : Assertion is false, Reason is true
S Seuml, STIerid &ifl
C: Both Assertion and Reason are true
Fa MM DMHMILD &TFevorid @ resor(Hb &ifl
D : Both Assertion and Reason are false
Fa DD LOHDID &TTerDd GUeorhld Seum

24 24 | Which of the following age group correspond to acquition of smile ?
B LD & 600TL_6U D MIET 6THS eUWIFH6L GLOMHeM S L60T60Tem & emil QLIMILD ?

A 0-2weeks
0 -2 QUM RIS 6T
B: 2-7weeks
2 -7 QUM TRIG 6T
C: 6-10weeks
6— 10 GUIT[JMHIGS 6T
D: 12-15 weeks
12 - 15 QUM TBIG 6T
25 25 | The teacher provide simple activities at the beginning of teaching - learning process because it :

SHMeL HHLNGH6060 AT GLHOSSHEHE G S6VLILTET QFWLITH &6 (G696 erflLiLIgmesmeoT &myesr LD :

A : Increases positive self concept of a student

InmeooTel & 66T GHFLNMMES HNH&H(HEMS 2 WLTHS

B: Increase negative self concept of a student
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LD MesoTEU &6 60T TR TIDEMM HH&H(BHSMS 2 LTSS
C: Decreases positive self concept of a student
IDMeooTel &6 60T GBIFLOMM FMHHBSHMNS GMNM &S
D: Decreases self confidence of a student
LD mevoTeU & 6rfl6dT & 6tTeuT DL G608 6m UL (&6 M &S
26 26 | Find out the statement which blocks creative thinking of an individual.
& ® BUFleT LemLLILmmHmey FbGHenaranis S LILG SSIaIS :

A : Allow more individual assignments under competent supervision.
HmemLWITeT GLMHUTTaneUUN6T B SIH &meT SeoflBUT LU 6 & 6T o 6rfld g6
B : Organise the curriculum primarily on the basis of concepts rather than facts.
HMVSTL LGS 2 600Ten &6 60T 21q 1L L UN6 SI6V6VITINE6 & (HS S 86rTl60T 21 LILIen L Ul6v 2emLn g 560
C: Routine skills of unimportant material.
Ggemaumm LML LIQUMB6Tserfler W& LiweTLRSSLILIGILD 6L E 8 L0MET M eoTd: 6T
D : Bring the students in content with the best talent and knowledge available from the teaching staff.
FAAmbHS 2Mlelb, Hmenwlss oGl w @ L6T WTeTalJ&H6T QGMLTL Q& TaTend Q&Fulg 6
27 27 In langue development, the Zone of Proximal Development (ZPD) is the central concept in theory :
QT GLODUITL Q6L S|600TemL0 AUETTES) L06woTL6ULD (ZPD) 6TH&% C&MTLLIML Q60T 6mLDWI& H(HSHSTS elleThGRMmS! ?

A: Piaget's
HNwregy
B: Noam Chomsky's
BC6UMLD G3Mben &
C: Bruner's
L e 6o [
D: Vygotsky's
M6EUSHTL VG

28 28 | Find out the wrong option in relation to the following statement.
A child equips himself in constituting his learning readiness in terms of his ability.

NeTaumld aumsRWSHHGL QUTBHSTEHMS Q6] QFUIsH

HeT HMenIn&HCHDHL @[ GLHNS 60T eLR6LLD SHHMEISH G S SWITTTH6V CIDLIHGH & Q& TeTEHLD.

A1 Previously learnt skills
petrenTy &Hm & meireer
B: Goal setting
&M &CHTEET LD S 6
C: Physical and mental maturity
2 L6V, LDET aUeTHER WHTFR
D : Instinct behaviour
2 GBS HLSOS
29 29 | Children have right to participate in art, leisure, games and cultural activities. It comes under which Act of UNO ?

‘@16, eneTW ML (5, HM6V, HELVMEEFTT B&HLPFF &H6fl6) LBIGEUM GLHS S EHSES 2 fleninl]eor(®) 6TeTmi Fn miel S
0. BIT.eN6IT 6TH& 2 LT densLl Lifley 2

A Act30(B)
difley 30 L9
B: Act3l
Nifley 31
C: Act32
Nrfley 32
D: Act30(A)
fley 30 (A)

30 30 Arrogant behaviour of a teacher shows his :

2® 25 flwilear Il G bLémgow GOlLLg :

A: Personality

3L, EH 600
B: Creativity

LemL LILMHmeu
C: Maturity
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GIShES
D: Novelty
L&lenwn

31 31 . . . . .
Ggen 1 - ereorm 2arfley LImhe Heil @y :

A

BT ITWI600Ts 6
B:

&6V WITE00T S BT LD
C:

@ TmLEd kI eoTTT
D:

G55 & eNBMSsID

S "Bleuid & By euerfl & DECLIMG BHSID" 6T6TM Fo MILD HIT6V :

A:
BEOTERTE
B:
F(HEUTFSLD
C:
QTS TN WD
D:
AL ILG &TLD

33 G5aUCHWILI Limeumeoorfledr S\mLiL QU :

A:

@enemuilg
B:

QurEsmuimi
C:

QF EhEhTuImI
D:

e mTuim

34 34 Y W . . . [ ; .
LI6L aUen & S&LILIVGET 6T QUWT&am6Ts: GMILILIG WD HT6v :

A:

Qs mevsmiLwid
B:

FeLILG&HTLD
C:

GFHS 6T HaUMsILD
D:

UL 1g60TL] LIMEtI6Y

3535 .
"0 QSHMNG!" 6TEOTLIS! :

A:

LI600TL S QS Ten &
B:

allenarrs Q& Men &
C:

2 flEQ&ET QSTLIT
D:

eLETMTID CeuMmIemng QG MTendH

3636 . . . . . R .. L
FHTVGS QaleflliLemLWMed STLLTO6 LiesorLlemeor L HID 2 60T F&HS) eUBLD TF&FLD

A:
Qs flBlene allenearQUFFID
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SMILIL eNemeTQUIS&FLD
C:
WHEMFFLD
D:
QUWOIEFLD
37 37
Qurmswrer aflm_smwd Gsias :
(Q) FBISTTLD ) LoenaTadl
b) STILD (i) STLOSHT
c) HTRVsHT (iii) P0G
(d) PNEXAETT iv) S
A
(a)-(1), (b)-(ii), ()-(iii), (d)-(iv)
B:
(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
C:
(a)-(ii), (b)-(i), (c)~(ii), (d)-(iv)
D:
(a)-(iii), (b)~(ii), (0)-(iv), (d)-(i)
S QBTG TUNEL MBS (BHS &FMHIGLD :
A:
WSHHFMHISGLI0
B:
@\ L FFMBIGHLD
C:
SHEOLFFMISLD
D:

[FTEOTEITLD &FMhIG LD
39 (39 . . .
(PHSHET LIS ITE0T.
LIL LD UeJIHS TedT. — QB TL F&H6M 60 (enmEul :

A:

Liwesflemey 2_6Temal; QFWLILIGQLITIHET @)6vemev.
B:

ST 2 6Tem8l; QEFWLILGQUTHET 2 6T6Tsl.
C:

Liweflemey §)6vemey; 6T(LEUMI 2 6iTeTEI.
D:

6L @6Ven6ey; QFWLILGQUITHET G)6V6n6v.

010 e 2_LDAITITITET" — 6T6edT M QLIWITTEY GMIG&LILMAIS R(HEIENS :
A:
LImemeu
B:
e
C:
IOFLD
D:
LO6MEV
41 41

'DELPESH MWD GUIGTENF WD’ — 6TedTm BHredledr L@ flwii -

A

G& TGV &6 MLl BTG 60T
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LDIT. &) (15619 600T 60T

@IS S

Q\LITedT60T 6V 60T

42 |2 2| 60OT6UOTIT BITMHMT6voT(H BI6V&HSH 60T 6TL_(H& HeMmiGer 160 HLALD HT6LEET 2 676 HerTiD :

A:
SIS SHeld
B:
WD&6Y FemLd
C:
@)\ J6UoTL_MTeUG! SHeITLd
D:

SBHSITID SH6TLD

L SITLOEN 2LEVAIIT 6TIQF 60T S60T GaUeMeVE: M6l LD 6Tem eueTI&S eflHLOLN6oTTT ?

A:

QUBEMLD
B:

LI6voTL|
C:

YwhHe
D:

Qummiiy

A FAlILS&ETISH MG LT Camernl @ 6ng BTL&LOMSS GamliL®G eug :

A:

auImeoTLD euEFLIL(BILD
B:

wrgel smeilwid
C:

NS Bwim efemesor G
D:

LIM6UGVIJ LI6U0T6m 6507

BB oL sevsrsr gaiderm) @wmeuy CUTHILD efemerwiml ) :

A:
LHCUTT
B:
FleulbLy
C:
HLIG
D:
QETHEUT

46 46 . . . . . .
&' TETEILD QIBLY6D 6T SHSISGTIW 6T 1SS 6181 ?

A
€
B:
2
C:
6l
D:
6

47 QUWIFE Q&FMeLedl6iT QUIMBHEM6T CoumLB SSBIeUs :

A:
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eT(LpEUTUY
B:
Gaummienin
C:
Liweoflemey
D:
QEFWLILGQUITIH6T
R 617 6T(EUTU, LI6V LiWeofleneudsemnaril QUMM a@hLh GLIMSI, 66l Liwenflemeuuler @mus ullewid &m&s LG eus :
A:
&L ererfl
B:
S|emrLiererf]
C:
wooiyerer]
D:
alleormd @
L 'GFISTLIUT' — @ &FQFTL6060T QUUITHET :
A
@eTulL@G U6
B:
SleoTULILG LT
C:
eNwILemLLieuF
D:
allUuULU@UeF
0% &RDFR, 910JlEH60T — @)L LIG LIS MG 60T &) 6mLBlemevSHaT :

A
&, &
B:
m,
C:
& &
D:
&, LI

ST SIILDF) - 6T6TM QF MeL6e0l6T QLIMH 6T

A:

SLLemer
B:

IBIIG)
C:

2 flemin
D:

Qenge|

2|52 QUG — E)6V8:&HE00TE GMILIL] H(HS.

A:
QamAHauwWIF
B:
@LuQuuwiy
C:
6165 60T ULI 6L 65) 60T UL LD GILILLIT
D:

QOGNSR
53 53
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54

55

56

57

58

54

55

56

57

58

SHTHH L &HED6TE &6UFHS HTeV :

A:
LMmBrearml
B:
SIGEICIEY
C:
&5 LD LT ITLOITUI600T LD
D:
FILGH SO

'LDITEOT' 6T60TLISS!

A

2 aUGLOWLD
B:

2 Qlln 2 (Bl
C:

2 _LhemLn
D:

@O FQFTEL

Q(H MUFTS SLOILDEIT 6T QUMY @)F60L0

A

&ITEV6OOT IT
B:

9|60(7 UL 650T IT
C:

R LIFT
D:

gRIye00r M

alleurs afleng: &L 6Tevild BTew6V 6T(LSH WeU :

A

6T&.6J. B\([HL_19 6TOTCUTITIT
B:

F(®.60.5
C:

D60 LD 6DIGV LI &5 6T
D:

SCWNMSHSTEFLI LIeuoTq &

2 1pa|lb QFMAILD hIGCa 2 MM Fiew 6T

A

STHol
B:

ISTITNTSY)
C:

Limenel
D:

LD6MLD

aflemeuuiley CWTSHSTET QST IS 6T,

GLDEHTEOILD LS QSTLISHET 2 60T JHSID QUTHET ls :

&IT6T6V BT, 2HMTUWIS STLOEOT

A
GG GLD R60TMI, G)6V6VITS RETMI

ROLEHTS R60TMI, @)6V6VITSH RETI
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@)6LEVITS RETTMI, H ML & (GLD ETmI
D:
@VEUITS 6T, BN H&HITS R60TMI
S Geugyl BTFRWIMT 6T60T ST LOMIEN &S B(HFH6V 3{6MLDG S 66UoT BIH 6OTITIT.
A
2_emLOWITET
B:
&ulled
C:
S M6oT & WILD LD 6T
D:
9|65 F M6V WILDLOIT6T
60 |60 . . . . . . . . ..
Gumy weneruiley SuLUIILD WITenETS:6m6Ts Q& TeTMI QleuMN) Q& MesTLeUenTLI L&DHES LITGHeusl
A:
SHEVDLIGLD
B:
Liyeuorl
C:
2 euIT
D:
SABSTH
61 61 V. Sindhu's never-say-die spirit means :
A': don't say never
B: don't stop trying

C: doordie

D: never do anything

62 62 Identify the kind of adverb is used in this sentence.
The weather is terribly bad.

A : adverb of manner

B: adverb of degree

C: adverb of reason

D : adverb of frequency

63 63 | Which among the following is not a work of Leo Tolstoy ?

A War and Peace

B: AnnaKarenina

C: Lessons in Life

D: The Three questions

64 64 How many types are there in syllabification ?

A: 6
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65 65 | Tom was panting with his 'exertion’ by this time.
The word 'exertion' used here as :

A: Adjective

B: Noun
C: Adverb
D: Verb

66 66 | This is a figure of speech, in which a thing, an idea or an animal is given a human attribute.

The figure of speech is :
A : metaphor
B: simile

C: oxymoron

D: personification

67 67 | "A thing of beauty is a joy forever".
- the poet who used the above line is

A William Wordsworth

B: John Eliot

C: John Keats

D: William Shakespeare

63 68 | Choose the correct antonym from the options given below.
Sachin only once bunked his class.

A skip
B: attend
C: omit
D: refused

69 69 | When a word ends with 'y' and any one of a, ¢, i, 0, u does not come before 'y', what letters are added to the root word to convert a singular to plural ?

A: Tttakes's'in the end

B: It takes 'ies' in the end

C: Ittakes 'es' in the end

D: Ittakes'ss' in the end

70 70 | What poetic device is used in this poetic line 'It was dark and Cloudy in the woods' ?

A: Metaphor
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B: Personification

C: Simile

D: Imagery

71 71 Find the group name of the following words.
Elephant, tiger, lion, monkey

A: Seaanimals

B: Land animals

C: Tree animals

D: Domestic animals

72 72 "Having a friend is like planting a flower."
What figure of speech is used in the above given line ?

A: Simile

B: Metaphor

C: Personification

D : Imagery

73 73 Which season is mentioned as 'blaze of heat' in the poem Indian seasons ?
A Winter
B: Spring

C: Summer

D: Autumn

74 74 | Fill in the blank by using correct preposition word :

Autumn falls summer each year.
A: in

B: on

C: at

D: after

75 75 Identify the correct combination of the parts of speech for the word.
play ground.

A: Verb + gerund

B: Noun + noun

C: Adjective + adverb

D: Verb + noun

76 76 | 'Order' and 'Command' are used in types of sentences.
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77 77
78 78
79 79
80 80
81 81
82 82

A': assertive

B: negative

C: imperative

D: exclamatory

A teacher wants to improve the pronunciation of his students in the class, which activity will help him to attain his objective ?

A : Silent reading

B: Read aloud

C: Peer reading

D: Parallel reading

A figure of speech that directly compares two things with words such as 'Like' and 'as' is called as :

A: Simile

B: Metaphor

C: Personification

D: Oxymoron

‘Which word doesn't start with a vowel sound ?

A : Honest man

B: University

C: Indian

D: MLA

Find the appropriate verb form.
Our School at 9.00 in the Morning.

A': is commencing

B: commenced

C: commences

D: will be commencing

Find the synonym of the word, 'Woes'.

A : Noisy factories

B: Sad tales

C: Strong enemies

D: Group of sailors

Rani hems her new skirt.
The synonym of the underlined word is :

GET IT ON

Google Play
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84

85

86

87

88

A : folds and sews the edge

B: tears and patches the edge

C: folds the edge

D: tears the edge

83 | The relevant meaning of the phrase 'quict like a mule' is

A : Refers to someone who is lazy

B: Refers to someone who is glum

C: Refers to someone who is dull

D : Refers to someone who is silent

84 | There isn't much traffic on Sunday.
The underlined word is

A': determiner

B: qualifier

C: modifier

D: head word

85 | Find the Eponymous word's origin for "Oscar".

A: Roman

B: Mars

C: United States

D: Sandwich Island

86 | The plural form of the word 'alga’is :

A Algum
B: Algas
C: Algae
D: Algi

87 | Write the meaning for the phrasal verb 'Call on somebody'.

A: Call a person in phone

B: Call somebody directly

C: Visit somebody

D: To attend a phone call

88 | Name the tool we use for making a sculpture.

GET IT ON

Google Play
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A: Roll pin
B: Mould
C: Chisel
D: Palette

39 89 | To test the electrical things we use

A: Plier

B: Screwdriver

C: Multimeter

D: Spanner

90 90 | Find out the antonym of the word "reverence".

A : admiration

B: respect

C: scorn

D: appreciation

91 91 | Find the number of days between Christmas and Republic Day.

Sl g6 LMHMID QWIS HeTEHMES @6 GU 26T [HTL_GeN6T8 &ITewrs.

A: 28
28
B: 29
29
C: 30
30
D: 31
31

92 92 | The only even prime number is
RCT e @ TL6oL LISIT 6T600T

A: o0
20
B: )l
21
C: 2
22
D: 2
12

93 93 | ging p:(-3)P2x(-3)°=(-3)!0.

P 828 STE0T : (- 3)P T 2x (-3)° = (-3)!10

A: 3
3
B: 9
9
C: -3
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D: 9

-9
94 94 oy B
If p+20=18 and pg=40 then find the value of % G
q

2 1
p+2g=18 wpme PG40 aafls — + — wgllmus srers.
2] q

A: 8

20
c: 18
60
18
60
D: 18
40
18
40

95 95 | If the ratio formed using the number 8, 20, x, 80 in the same order are in proportion, then 'x" is :
8,20, %, 80 SULH W 6TevoTH M6 28 auiflemauiley LweTLHSH Slemowld R ShIG6T eNH G FLonmss @ LILNer x =2

A: 60
60
B: 10
10
C: 32
32
D: 30
30

96 96 | [f the area of the rhombus is 68 sq.cm and one of the diagonals is 17 c.m find the length of the other diagonal.
@b FTLFSITSH 6T LIFLILIATE]| 68 &F. QF.LS IDHMILD 2/FH60T @@ enemevaillL LD 17 Q&.LS eTeufl6L LOMGMM(H
eLNE0IVENL L G685 8 IT60TS.

A: 4cm
4QF.8
B: 8cm
8 Q.S
C: 10cm
10 Q&8
D: 17cm
17 Q&1

=
’ Find the area of dotted part.
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98 98
99 99
100 100
101 101

Yeitarfl emeug geitem @& S8 LITLILIETEY STai .

? (A1)

YRR

—6 Qlg.1fi—

A 2344 sq.cm
2344 5. Q&S
B: 24.58 sq.cm
24.58 &. QFLS
C: 56.12sq.cm
56.12 &. QFLS
D: 14.58 sq.cm
14.58 & Q&S

How many number of zeroes in the following product 3200 x 1000 x 40000 x 35000 x 16000000 ?
BLDGHE00TL. GO\ LI[H 8 &M LI6V60TI 60T Li,e2e31 i1 & 6rfl 60T 6T600T60011856M85 &5 M6worgs. 3200 x 1000 x 40000 x 35000 x 16000000 2

A: 18
18
B: 19
19
C: 6
6
D: 23
23

If 15552 = 2™ x 3", then find the value of 'm and n'.
15552 =2" x 3" 6T6uf160, m, n 60T LOG)LIL| 56D 6NTE> &IT6UOTS.

A: m=6,n=5

m=6,n=35
B: m=5n=6
m=5n=6
C: m=2,n=3
m=2,n=3

D: m=3,n=2
m=3n=2

Distance covered in 2 hours at the speed of 2 meter per minute is :
BUOLSEHMDS 2 SLLT Caus g5 6v, 2 106wl GHISH 6L HLG&5LLLL QS Ten6eVe6) :

A 60 meter
60 LSLLI7
B: 120 meter
120 LS
C: 180 meter
180 LSL_L[7
D : 240 meter
240 5L

If a clock shows 5.25 pm now, what would be the angle between the minute hand and the hour hand before an hour and three minutes ?

(b HUHTTLD SHCUMSI 5.25 pm CHISHNS HSTLHEMS!. eTevflev 1 Wevof] 3 BILOL RS EE6HG (WL BILSIL (L6TEha @ LD et

(PETEBEHGLD @)L G 2 66T G&HTEToTLD 6T60T60T ?

A: oo
0°
B: 300
300
C: 900

90°

GET IT ON

Google Play
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D: 600
60°

1021102 A man sold two wathces for Rs. 3,750 each on one watch he gains 20% and other 30% loss. What is the fraction of the gain and loss ?
62(IH LD60T1 & 60T €h. 3750 & @) T60oT(D) 6M&H & HIQHTIHNG 6l MMTET. s260THIl6L 20% GUITLILALD LOMAMTETAN6L 30% HL_L (LOLD
LSS M6V UL BL_L LI 6IT60TLD &IMeoorss :

A:

w
olo Sl NG ~IS

c: 7
12
'
12
D: E
13
E
13

103103 The number of four digit numbers which are framed by using the numbers 1, 2, 3, 4, 5 one time is
1,2,3,4,5 gg.,@u GTEUOTEH 606 62(1H (LMD LIWLTLMRSSH 2 (Haursas LD BHITerd @ms;as TG00 6111 60T 6T600TE001) 8560185

A: 100
100
B: 120
120
C: 625
625
D: 32
32

104 104
Kavin walked 4% km in an hour. How much time will take if he walked 15% km 2

sefletT 1 wemfl CrrdHlen 4% £LIB mLESmmeir erssflsy, 15% &L a6t LGS
sT(h\BH&18 Clame(shd GETD sTeUsusTsy ¢

A : 2 hours 30 minutes

2 oo 30 MBI Lhi&6iT
B: 3 hours 30 minutes

3 neofl 30 B Lrhig 6T
C: 2 hours 45 minutes

2 106vof] 45 BILOIL I g 6T
D : 3 hours 45 minutes

3 neoof] 45 BILALmig 6T

105 10:

oy

Anitha had a Vegetable garden which was rectangular shape. It was divided into 6 equal parts. In one part she planted Brinjal, two parts she planted Tomato
and the remaining three parts she planted Lady's Finger. Portion of Lady's Finger and Tomato planted part are

Sjeflgmefler &MUSM S CHTLLLD QF6aIS allgal6) 2 6TaTS). DG 6 FL0 LITGEISETITES L‘i]lj‘]s;s;uuL@mmg;J )
LUM&556 &5 & & T, @ etk LUMsS5 60 S8 mefld WmmiD LS W6TaT e eiTml LIMS &S 60 Gleu6soTem LD
LA Giul @ eTensl. Qeuesoren L M mIlD S&amer] Lulfl il L umgn

A:
gcndg
6 &
3 iwiiE 2
6 ny

B: ] 2
—and =
2 6
T
2 g 6
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o osp M= N =
w| —

B

E.

3

B
o | W

106 106
If half a meter of cloth costs Rs. 22, find the cost of 14% meters of cloth.

yemiy BLLT guesefluflstt eflsmeu emp. 22 stenflsy, 14% BLLy gswsflufstr siflemsy

wrgl ¢

A 620.67
620.67
B: 630.67
630.67
C: 610.67
610.67
D: 640.67
640.67

107 107
7 13

Find the value of 2 EEY” LN it
15 15 15

2 7 13
2 a8l o l2 : :
{5t~y BSOS

A:
Al
15

1—
15

il
15
C:
2
15

212
15
D: 12

i
15

2
15

108 3
Study and complete the following pattern :

40

24 48

9 21

SlesTau(mib yemolienul 2 HMICHTESE Hlenme Glais.

60

24 48

GET IT ON
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A 27,36,15,84
27,36, 15, 84
B: 27,15,36, 84
27,15, 36, 84
C: 84,15,36,27
84, 15, 36, 27
D: 15,27,84,36
15,27, 84,36

10911109 From the following Pie chart, the fotal number of students like both red and

green colours are :

A -Red
B - Blue

C - Yellow

\‘i% D - White
30 Sfudents e GrE&H
F - Black

Wemeumd  sull  eflsmé&sluLsHlsty  Heuly  woHmid  udens  Him
6L ETITETITIAITHEMST el(HLDL|LD LoMemuTeuiT SetfledT sTeturswafl&emas,

A - Slauiy
30% B- Beoid
5% 55'? 56

C - oep&er

% \ ke D D - Qleucnener
30 Students .
E - ugens
F-a&mliy

110 /110
Father has 4 acres land, he gave % of his land to his son. Now how many acres

of land does father have 2

shHenFWILD 4 F&E&T Bleud 2 6TeTEl . S6UT SUTE LOHE) 5SS % LIrhig,
Hlevgens ClEmhliss allimy . sHEung oisuflLb a8 Sener g&E&ET Hlsub
B pseng) ?

A 2acres

2 gHBT

3
— acres
2

3 :3:3y
5 TEST

wls @I Wl
a 9 o
& g 9
g & 9

e JHSIT
3

1T 1117 A mat of length 238 m is made by 17 women in 15 days. How long will it take for 45 women to make a mat of length 840 m ?

238 1S [BemLpeiTeT (b LIMUSement 17 QUIGTITEHET 15 BTeTahele) Q&g eury. 840 LS [HTLO6TOT 62 LIMUI 6060 45 Q\LI6T0TE 6T
Q&I 6T5 & 60)60T [HITETEH6T &L ?
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A 20 days

20 (BTG 6T
B: 15days

15 [BITEITE 6T
C: 17 days

17 [BITEITE 6T
D: 19 days

19 [BITEITE 6T

112112/ Find the number of natural numbers between 200 and 500 which are divisible by 7.
200 - &G 500 - HGLD @ ML CW 7 36V UGLIGILD 6T600T856Tf160T 6T6U0T600 18608 :

A: 42
2
B: 43
43
C: 41
41
D: 40
40
13 11131 100 mg + 100 cg + 100 dg = cg.
100 9.6 + 100 QFH +1000OLE=_ QF8H:
A 120
120
B: 1110
1110
C: 1010
1010
D: 1100
1100

a4y length, breadth and height of a cuboid are in the ratio 6 : 3 : 5 and its volume is 46080 cm? then its lateral surface area is :

R HOTEQFaIISSH T BaTLD, (&6 IHMID 2 WITE S 60T eSS0 6:3:5 6T60T8. 3|8 60T 8601616 46080 Q& .1 3 eTevfl6v
SHAOTFQFIMGBSD 60T LIS LILITLIEOL &IT600Ts.

A 13824 cm?
13824 Q& 152
B: 9216 cm?
9216 Q& 152
C: 8064 cm?
8064 Q& .L5?
D: 5760 cm?
5760 Q&.L52
115 115 The number of terms in the A.P. 4, 8,12, ... 120 s :
4,8,12, ...... 120 6T63TM A.P 6V 2_6iTem 2_mILIL| &6 60T 6TevoT60011 56085 :
A: 28
28
B: 29
29
C: 30
30
D: 31
31

116 116 If the radius of a sector is 28 cm, and its central angle is 180°, then the length of the arc is :

QB UL L& C&HmeooTl LGHUNeT SuT1D 28 QF LS, LDMHMILD 2460 60L& ESHMeuorLd 180° 6T6vt160 215 60T all6uedledr Herid :

A: 28cm
28 Q&F.L5
B: 44cm
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4 Q&8
C: 88cm

88 Q&S
D: 8 cm

87 Q&F .18

117 /117 Which one of the angle is not in a major segment of a circle ?
L9\ 6576 (IH 61 60T6U D MIGT 6T ([ 6ULL SHHeT QU 6L L& S1600TI9.60 S emLOWITS C&ITeooTLD ?

A ogoo
80°
B: gs0
85°
C: o950
95°
D: 750
75°

118 118/ The angles of a right angled triangle are :
(5 QFBIGH T (LN& B8 T6o0TE B 60T B85 T600T MBI 6T :

A : acute, acute, obtuse

(&MIHIGSTenT LD, & MIMIG& mevorLd, 6Nl iflGasmevorin
B: acute, right, right

(& MIMBIG S T600T LD, O & MG & M6DuT LD, 6\ & I G &5 T6uoT LD
C: right, obtuse, acute

QFRBIGSH Tevor D, el B8 MevoT LD, (& MIMIG8s T6oTLD
D: acute, acute, right

S DIMBIGSTEU0T LD, &MU MBS 60T LD, 6 & MG & M6uoT LD

119119 The dimensions of a sweet box are 20 cm x15 cm x 10 cm. How many such boxes can be packed in a carton of dimensions are 1 m x 50 cm x 63 cm.
@ 6fIILS6T emaUHGLD 2 QUL LG WITETSI 20 Q&F.LS x 15 Q&F.16 x 10 Q&F.LS 6T6dTm 2j6mailev 2 6Temsl. @Heme 1 LS x 50 Q& .18 x

63 QF .15 36emaaTer @F 3L emL L1 QLI 1QUN6) 678 S emenr = (hH&&6euTLD ?

A': 100 boxes

100 QUIL_ L9 &5 6T
B: 105 boxes

105 QUL 1Q &H6iT

C: 200 boxes

200 QIUIL_ LY &6iT
D: 110 boxes

110 QUL Q. &6

120 1120/ A heater uses 4 units of electricity in 60 minutes. How many units does it consume in 3 hours.
2@ &GCLMM 60 BILAL MG 4 260G 6T WeTFTISmSLI LWeTLOHSSRMS!. 3 1n6to] CHISH60 6785 6menT 260E 6T
INETEMTSH MG 2% LIWeTUBG SSILD ?

A': 6 units

6 VGG 6T
B: 3 units

3 3IVG &6
C: 12 units

12 S|V & & 6T
D: 18 units

18 SIV&&H6T

121 121 The Pink colour code is used in the map represents,what ?

@emesFPauli Bm& GMluIbH&eT Blovalen UL MigGerflev eTemd GMILILIOHRmES! ?

A: Dam
Siemevr (B GH 8 aHLh)
B: Light house
HEBIGMT 66T G
C: Marine lights
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HL6V e 6MEs & 56T
D : International boundaries
LI6OTEoTITL_(B) 6T6V 606V &5 6T
122 1122/ Which one is not components of Map ?
@eumnilev 6181 LIeNLILIL &5 60T Gn MIGHET @606V ?
A : Directions
B & 56iT
B: Title
SHe6uLIL|
C: Key

Hoealleana
D: Colours

Bl A1g 6T
12 Match the following
() Battle of Wandiwash (i) 1751
(b) Treaty of Parls )] 1755
(c) Treaty of Pondicherry (1) 1760
(d) Baitfle of Arcot (iv) 1763

QUTMHSHIS

(@) sumseumdll Guimy i) 1751
(b) umiflsiu 2 LU Hens (ii) 1755
(e) unmemg ECFfl 2 LamunSens (i) 1760

(d) Sy el Guimy fiv) 1743

Az (@)-(id), (b)-(iid), (¢)- (iv), (d)-(0)

(@)-(ii), (b)~(iii), (¢)- (iv), (d)-(0)
B (a)-(iv), (b)-(ii), (©)- (i), (d)-(iid)
(2)~(iv), (b)-(i1), (¢)- (i), (d)-(iii)
C: @n(id), (b)-(iv), (¢)- (i), (d)-(0)
(@)-(iii), (b)-(iv), (¢)- (i), (d)-(1)
D (a)-(iid), (b)-(i), (¢)- (iv), (d)-(3)
(a)-(iii), (b)-(ii), (©)- (iv), (d)-(D)
124 1124 Find out the correct pair :
(a) Maktabs - Secondary school
(b) Macaulay's minutes of 1835 - English education

(c) Operation Blackboard - secondary education commission

(d) Sala bogam - Land were given to temple

Frflwimer @) enevorem &evor(HILIG &8 ea)LD :

(a) LD& B L186T — @ 6mLBlemevl] LiaTerfl

(b) 1835 QLD S,600T1.60T QLGS TCeUW6T GMIILIL] — 2 MhIT L& SHevail
(¢) B@OLD LIuen s L LD — @60 L Bletreuds Hevel G

(d) FMeLCLIM&LD — C&HMTUNELE EB & GULPMHBIGLILIL L [Bl6VEIg6T

A only(c)

(c) LD &Fifl
B: only (d)

(d) L@ &Fifl
C: only (a)

(a) DL (D &rfl
D: only (b)

(b) LG &Fifl

125 1125 Which one of the following is not correctly matched ?
GO Q&ETHGHSLIULLemeaugsafe e1gl Fflwnmg QuUTBHSelleveney ?

A : USA -NAVIC
2QWIf16& B&EHW HTHISET - Hrelds
B: Europe - Galileo

SGITLILIT — &6960GWIm
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C: China - Beidou
Georm — LFGLIT
D: Bhuvan - ISRO
Lj6ueir — @& W efleorQeuet] QLmiIFH S SHLpssn
126 126 Find out the incorrectly matched.
@eummier 61gl Fiflwms QUMBHSSLILILeNevemney ?

A Tbn Battuta - 14™ Century
@\LI6OT LIGTSHIT — 14 &y LD BIHMTevor(h
B: Al-Beruni-11th Century
9J6u-LIemenf] — 11 @yl BIHMTeor(H
C: Marco Polo - 13t Century
LOMF&ESHTCUMGIT — 13 Qb BIHMTeoT(H)
D: Abdur-Razzaq - 16™ Century
SILUISIT JEVITE — 16 Q4D HIHMTesor ()

127 1127 Choose the correct answer from the statements given :
(a) A Danish in 1620 began settlement at Tranquebar.
(b) In 1862 they sold all their settlement in India to the British.
(c) Danish called Tranquebar as Danesborg.
(d) Ziegenbalg set up a printing press at Tranquebar.
GLD GG 60T 6UITE: & Wk s erflev FflwmeT eumesER WSS CHT6] Q&F UL :
(a) GL6euflWITS6IT 1620 @6V STMISUMLUND G EWMMEmS Blmieiler.
(b) 1862 @6V CL el lWT&H6T @BH WITeNeBHS HHIG6T GQCUMMESN S 2, HEIRCIW [HEHEG ellMHmeor.
(c) HIMBIGLOUMGemW CL6vflWITSH6T LTeTenuQLITE: 6T60T 3i6MLDS 60T
(d) FHTUMOLEG STHBISDUMQUNG R0 F& Fal_SemG Bloueilermy.

At (a), (b), (d) correct
(@), (b), () &1l

B: (a), (b), (c) correct
(@), (b) (c) &1f1

C: (a), (c), (d) correct
(@), (), () &1

D: (b), (c), (d) correct
), (©), (d) &rfl

128 128 ‘Which one is the example of Exoskeleton animal ?
618l mEFFL L&D QUHMIETT 6lleumhiG M & 2 &Myesorin 2

A: Whale
FmSevid
B: Fishes
LS 60T & 6T
C: Man
L0607 & 607
D: Cow
L&
129 129

Bauxite the name derived from which language ?
LIM&emeruL_ eTedTm UM &Heng 6Thd QLomduiled ®bg QumUiLL L g ?

A Greek
RCI&&HID
B: Latin
@evsGetr
C: French
Noreps
D: Chinese
Georld

130 130
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Match the following :

(a] Aricle 157 and 158 {i) Vice President

(b}  Aricle 63 {ii) Privileges of the Govemor

[c]  Aricle 72 [ii)  Qualification of the Govemor
(d]  Adicle 361 1) {iv)  Court Punishments Regarding

D& 00T QDD QUITIHSSISH ©

(o)  slotlfley 157 mmih 158 (i)  Siners @AW TS Sans0aur

b)  &lLudfle 63 (i) 2w EBHBESTa Fmlyflenn
[c)  e&lciifle; 72 (i) 22,0675 [ (1585 55 ITEUT 55(5 Gl 5 61T
(d)  elcudfley 381 (1) (iv) B&EIWDedTM Gevor_emar Gl G

A (@)-(iid), (b)-(1), (¢)-(iv), (d)-(ii)
(@)-(iii), (b)-(1), (¢)-(iv), (d)-(ii)
B @-(0), (0)-(iv). (¢)~(ii), (d)-(iii)
(@)-(D), (b)-(iv). (¢)~(ii), (d)-(iii)
C: (@-(D), (b)-(iD), (0)-(iid), (d)-(iv)
(@)-(D). (b)-(id). (0)-(iii), (d)-(iv)
D (@-(v), (b)-(iii), (¢)-(ii), (d) - (i)
(@)-(iv), (b)-(iii), (¢)-(ii), (d) - (i)

You would have observed Dews like water droplets on the leaves of grass in the early mornings. Name the phenomenon and specialised cells by which it
takes place.

B sTameuuiley Lmserfler @eneuaafler Gourlitie ueflgaiefl Gumerm Bigsief 6T sraorliLpelans Bniger
uUmisSH GLUITS6T. @bBlendauller QUWT WwHMID ASMHES &TI6rome FIMLIL QF6&6Tler QLT Jomidh.

131 13

A : Transpiration, Phyllode
BrrelliCuns @, LeuGeum@®

B: Respiration, Stomata

FAMTRHSH60, §)60)605S1606T

C: Guttation, Hydathodes
B &60, mamL Cam(H &6
D: Photosynthesis, Chloroplasts
6flFCF 868, LIGHHIG 6001810

132 132 Hydrophyte that does not have roots :

Saufserhw BISSTaurLD :

A: Hydrilla
smamL_fléveur

B: Opuntia
sliueradlum

C: Calotropis
SmGeurL_miileny

D: Wolffia
2 sllwm

133133

Select one plant from the following which produce nacked seed, absence of ovary.

FECLD QEHTHHSILL B 6TET HTam&6Tlel @BHS HMbHS 616nFHM6T 2 (HeUTEHGLD GG MM HTTHNS

CaIHOs b &&EaMD :
A: Paddy
QB
B: Ground nut
GoUT&H L6116V
C: Pinus
6MLICUTEN
D: Funaria
SLNGeor il

134134 Breakdown of carbohydrates into Glucose is the example of .
STFCUMmaML G (H&6T & Eh&GaTeTs: LMMHMID &6 615ME 2_SMIeTid &, GLD ?
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A: Anabolism
QUETFLOMMMLD

B: Catabolism
FengLOMmHmLD

C: Glycolysis
B 606178 & Tt U 67V

D : Photosynthesis
R6flFCaFisHam o

135 13

Q

Ranikhat disease of poultry birds :
CaMN&HEHEG 2 BaIMGLD TTenlla@ sl GBITUI :

A : Caused by bacteria
umsleflwm GBmul
B: Caused by virus
emeUTe GBI
C: Caused by fungus
LLEH6nF GBIl
D: Caused by protozova
LGImLGLTG&Fmeum GBI
136 136 Carbohydrates are organic compounds composed of ......(I)...... , ......(ii)...... and ......(iii)...... .

STFCUMaML G (D& 6T 6TTLIEME ...... [6) JOT (ii)...... IDOMILD ......(ii)...... B WEIMHENME Q& MevorL &Iflin
Fo (B LIQUITIHETSETMELD.

At (i) carbon, (ii) hydrogen, (iii) nitrogen

(i) STFLIET (ii) MEUD L [ITEQ60T (iii) 60V BL 783607
B: (i) hydrogen, (ii) oxygen, (iii) carbon

(i) QM L_[T2360T (i) 2,8 G\ 60T (iii) &M LIGOT
C: (i) oxygen, (ii) carbon, (iii) nitrogen

(i) DLEBFQET (ii) SITFTLIGHT (iii) 6MBL_[JEQ60T
D : (i) hydrogen, (ii) oxygen, (iii) sulphur

(i) QM L_[Te60T (i) 2,8 F1 60T (iii) FeVLIT
1371137 is the lightest bone of the human skeleton.
06fl% TILDLIE ol 1960T L& G6VE 6T 6TaVILDL |

A: Femur
o
B: Ribs

aNeuIT eTeVILDL| & 6T

C: Stapes
6rLGLLI6hy
D: Skull

oeooTemL 62(h

138 138 RBC dies quickly. Because :
@Us5s Feulll QFa&6T aflempailev @mb& elL& &mreoorid :

A: Tt do not have nucleus
2 I &(BH §6V6VITemLD
B: It do not have chloroplast
L&FenguLd @ 6VeTemLn
C: TIthave nucleus
2 I & @OULSTE
D: Itis weak
Gemyna elhHeaigme
139 139 Bleeding gums deficiency is .
rroiseflev 7&5855S6lMHE &myern

A': Vitamin A
emeul_ L LAledT A
B: Vitamin B

el L Ldler B
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C: Vitamin E
em6uLLLA6oT E
D: Vitamin C
emeul L LAledr C
140 140 Which of the following is not related with Insulin Dependent Diabetes Mellitus (IDDM) ?
LN etTeu (HeuesTau M6V 6781 @ Td6d6tT FmiBg Hiflfle) GBI (IDDM) Q&STLFLIeML WIS D606V ?

A : Ttis caused by the destruction of B cells of the pancreas.
@8I HeMET WG H 6L 2 6T LI LT QF6&6T Sfleugsmey ghLGR MmS!.
B: Inadequate insulin secretion.
GLIMTSILDTEOT 6176 @) 601860 60T & 78 & TemLn
C: Genetic inheritance and environmental factors are the cause for this condition.
Wwryed LMmoILD SFHMIF G060 SITT600T &6 &ITJ600TLOMS: 2 600TL TH M SI.
D : Production of insulin is normal but its action is impaired.
@\ 60156060 2 MHLISS) 266 CUITSILDTETS TS 2_6TETSI. Q,60TT6Y, HGH6T QFWILIT(H &6NMEUTs 2 6Tengl.
141 141 Oxidisers used in solid propellant :
F6UOTLD @) WIS QUIMIBHL G660 LIWeTLG WD 2,8 608 reoofl:

A: Hy0,
H,0,
B: HNO;
HNO;
C: Noj
NO5
D: Liq. Oy
Fgeu 0,

142142 Water was first prepared by ...... @1)...... who also discovered ...... (i)...... and named it as ...... (iii)...... .
2 MUSH QF LSS epeud IMWLILILLITH WHMID ASDHES

Sleuf @LL QUWI ... (iii) ......

A: (i) Henry Canvendish, (ii) oxygen, (iii) inflammable air
(i) a6ty CFHG6U6ITIL6Y (ii) 21&T 60T (iii) eTerfIF 6L eTifluyLd S&mHmi
B: (i) Henry Lavoiser, (ii) hydrogen, (iii) flammable air
(i) Q@amedTn) eUIMEUMTUWIET (i) eMaUDL 60T (iii) 6T flujh &mhom
C: (i) Henry Canvendish, (ii) hydrogen, (iii) inflammable air
(i) @ameiTn)l CaHG66ITIN6 (ii) emamL [eg60T (iii) eTerflH6v Tl &mmmi
D: (i) Henry Lavoiser, (ii) oxygen, (iii) flammable air
(i) QameTnl VTEUMWIET (i) Q& F 60T (iii) eTfluLd STHmi
143143 | The temperature at which the carbon dioxide becomes solid to form dry ice :
6% QellILBlemneUiley &ITTLI6T—60L—21,866m&F® 2 60 Lieoflé e 19T nmmSma ?

At 57°C
-57°C
B: 75°C
-75°C
C: s57°C
57°C
D: 750
75°C
144 144 One litre of sea water contains gram of sodium chloride.

@@ LT &L6v Bflev SemnThHaleTer CFMIQUILD & GeTTeTLY60T 66y

A: 53 gram

53 @D
B: 35gram

35 @I

C: 30 gram
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145

146

147

148

149

30 b
D: 13 gram
13 @b
145 The amount of heat energy required by ice to change into water is

FIL Lel &L 1960 W &eoorenntJMgs MMM CHemaul LB QeuliL ,MmmeS 6T oj6mey aT6ur
AMIWMISESILGRMS.

A : Specific heat capacity
Qeuliu gL S meT
B: Latent heat of fusion
2_6TEBemM GleulILID
C: Anomalous expansion of water
Bifler siFmsmrevor elifleumgsin
D: Density
SILTSS
146 Which one of the following Ferrous Alloy is used in manufacturing aircraft parts ?

LNetTau(mld 2_Ceus:& &Hevenealserfley gLamw allinmers E et 2 S il LMsmigGeT WM&l LweTu®LD @@L
2 GeUMT&HE H6V606 6TSI ?

A: Duralumin
19 ]y mewLsleor
B: Magnalium
Q& eoredwid
C: Stainless steel
sGUIYESTS @by
D: Nickel steel
Blé&6 QLY
147 The ignition delay of the Fuel in diesel engine is measured by the unit :
e &6V 6TEh & cotd e 6or 6TFIQLIMTB6T LIMHM emaIliL] STNSHSHMS Si6TeilL LILeTUGID D6V :

A: Octane number

21,8 GL60T 6T600T
B: Cetane number
G GL 60T eT6v0T
C: Calorific value
&Gl LG
D: Specific energy
B60T 25 DMEV
14

=3

Calculate the number of moles in 69 g of Sodium. (Sodium mass number 23)
69 &) GFIMIQUIG G 60T GLDTELEHED 6T G600TE:R (D& : (CFTIQUILD QILITHETITEMLD 6T600T 23)

A1 46 moles

46 GLOIT6L
B: 3 moles

3 GLomevy
C: 0.33 moles

0.33 GLomey
D: 92 moles

92 GLOIT6L

149 The reason for the changes in the composition of air slightly from place to place is :
&THML 2_6Tem LGS QUL Gerfler @enwil] @LSHMES @L b Fnflsere] DMMILIL & SITFeoriD :

A: The composition of Nitrogen and Oxygen changes
MBL_TRET MHMILD o8 edRefler @enwiL] mmiLi(Hlelgmey
B: The composition of Nitrogen changes
B TR60T 60T @enuL] LDMMILIB eSS TV
C: The composition of Oxygen changes
21,8 6012260160 @)L LOMMILIH) 6UGT6D
D: The composition of carbon-di-oxide, water-vapour, dust etc. changes

sflwdlev eurwy, Brmed, sre CUMeTmeneugerfler @enuliL] LDMOILIGH eSS M6V
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150 | 150 Which one of the following is used to produce glass ?
G LD 8> 8 600TL_6UMH MIGT 6T& 860016001l SWIMf&8 LIWeTLGSmE! 2

A Quick lime

&L & 600T600TTLOL
B: Slaked lime

Bl & evorevor L)
C: Lime stone

&+ 6U0TEU0T ITLOL| &6V
D: Copper sulphate

STAT FuCLIL
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